WILD \ HOI?."E: ®  Phone (209) 400-7200 Fax (209) 943-7923
\&"\'I - www.wildhorses4x4.com

FOUIR wWwW'SEEL DIrsiIvE N

WH SEAT BRACKETS #3661/ #3663 Date 11/19/21 rev. 1

Parts
4 floor brackets
1 Optional pass side spacer bracket

Hardware
6 ea. 5/167x 17 NC bolts
» » Passenger seat spacer
2 ea. 5/167x 1/2” NC bolts bracketgto floor lr))racke . Driver seat floor bracket to floor ~Passenger seat floor bracket to floor
10 ea. 5/16” flat washers . ’
) (not used with under
8 bracket to slider spacers seat storage)

1 ea. 5/16”x 3/4” NC taper head

3 ea. 5/16”x 1” NC button head

7 ea. 5/16”x 3/4” NC button head

2 ea. 5/16” large flat washers (not pictured)

2 ea. 5/16” nylock nuts (not pictured) Driver seat to floor bracket Passenger seat to floor bracket

1. Bolt driver seat brackets into floor with hardware as shown in pic below. Double check position of brackets
with seat. Brackets are slotted for slight adjustment from one Bronco to another.

2. Bolt passenger seat brackets into floor as shown. If you are not using the under passenger storage compart-
ment bolt passenger side spacer bracket to the left passenger floor bracket using 2 5/16” x 1/2” bolts. Bolt the
spacer bracket into the bottom side of the floor bracket.

You will need to drill the 2 rear holes on the passenger side. Double check position of brackets with seat before
drilling holes in the floor. Use large washers and 5/16 nylock nuts under the body.

4. Bolt the seats to floor brackets. Use spacers between floor brackets and sliders to clear bolts on the floor
brackets. Refer to seat slider to seat instructions for slider position on bottom of seats.

NOTE: 7 ea. 5/16”x 3/4” NC button head through slider and spacer into floor bracket threaded holes. 4 on
driver side and 3 on passenger side. See “A” on pic

1 ea. 5/16”x 1” NC button
head this one goes through
slider, floor bracket and floor

1ea. 5/16"x17 NC 2 ea. 5/16”x 1/2”
button head with NC bolt with washer
washer from underneath

1 ea. 5/16”x 3/4”

NC taper head
\\ 1 ca. 5/16”X 1” /
NC bolts with __—

A A A

washer



WILD . HOI?.’ES & phone (209) 400-7200 Fax (209) 943-7923
M"l - www.wildhorses4x4.com

FOLIIR wWwyfkEEL DIRIVE

WH SEAT Sliders to Seat Dbate 11/19/21 rev. 1

Front of seat
1. Pic #1 shows bottom of the seat. The material
has been taken off of the steel seat frame to show
mounting holes. The circles show the holes to use.
Both front and rear use the farthest holes toward
the rear of the seat.
2. You don’t have to remove the material from the
seat frame. We prefer to fold it under to expose the
holes.
3. Add spacers between the seat frame and slid-
ers. Bolt sliders to seat frame. Pic #2 Push down

on forward portion of slider to move the slider
Spacers and expose the bolts holes. Tighten sliders to seat

frame.

4. Pic #3 Carefully slide towel bar onto sliders.

Bend at the front of towel bar goes toward the seat

not the floor. This makes it easy to grad and adjust.
1 Now you are ready to mount the seats.

Towel bar
Front of seat

——— Push down to —
move slider



